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This worksheet accompanies the above article ‘The hunt is on’. 
 
 

Complete the equations by adding in the type of decay, the isotope undergoing decay and/or 
the products. Each equation has one or more parts missing. 

 

 Type of 
decay 

     

1  𝐾𝐾19
40   𝐶𝐶𝐶𝐶20

40  +  

2    𝑃𝑃𝑃𝑃84
206  + 𝐻𝐻𝐻𝐻2

4  

3 α 𝑇𝑇ℎ90
230    + 𝐻𝐻𝐻𝐻2

4  

4    𝑃𝑃𝑃𝑃91
234  + 𝑒𝑒−1

0  

5 α 𝐵𝐵𝐵𝐵4
10      

6  𝐵𝐵𝐵𝐵4
8   𝐵𝐵58  + 𝑒𝑒−1

0  

7 β 𝑆𝑆𝑆𝑆34
79      

8 α   𝑃𝑃𝑃𝑃82
206  +  

9  𝐾𝐾𝐾𝐾36
85   𝑅𝑅𝑅𝑅37

85  +  

10 β 𝑆𝑆𝑆𝑆38
90      

11    𝑅𝑅𝑅𝑅86
234  + 𝐻𝐻𝐻𝐻2

4  

12 α   𝑈𝑈92
234  + 𝐻𝐻𝐻𝐻2

4  

13 β 𝑆𝑆𝑆𝑆38
125      

14 α 𝐶𝐶𝐶𝐶96
242      

15 α 𝐵𝐵𝐵𝐵83
209    + 𝐻𝐻𝐻𝐻2

4  
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